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QUESTION 1

Which TWO of the following are valid recertification policy target types?
A. Accesses

B. Services

C. Policies

D. Groups

E. Users

Correct Answer: BC

QUESTION 2

What is the purpose of creating a Lifecycle Management design?

A. To automate the large number of manual tasks due to common recurring events.
B. To identify non-compliant accounts and notify the system administrators.

C. To eliminate accounts created outside of IBM Security Identity Manager.

D. To identify inactive accounts and notify the system administrators.

Correct Answer: B

QUESTION 3

On a 32-bit operating system what is the recommended maxheap value specification for ISIM\\'s jvm?
A. 1280MB

B. 4096MB

C. 1024MB

D. 2048MB

Correct Answer: A

QUESTION 4

An ITIM v5.x customer deploys password synchronization across user accounts using web services clients to connect to
ITIM v5.1 by consuming Web Services Description Language (WSDL) files.
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Which item(s) may need to be transformed or augmented when planning a migration from ITIM v5.x to ISIM v6.0?
A. WSDL files of ISIM v6.0, ownership type of account objects

B. Service form definitions and reconciliation schedules

C. Web Services client code and service object data

D. Web Services client code

Correct Answer: C

QUESTION 5
The customer\\'s design calls for a new custom person entity to be created.
What is a valid statement regarding operations that can be carried out on the new person entity?

A. The custom person entity will inherit only System Defined operations of Person entity type. These can be customized
and new operations can be defined.

B. The custom person entity will inherit all operations of Person entity type. These cannot be customized, but new
operations can be defined.

C. The custom person entity will inherit all operations of Person entity type. These can be customized, and new
operations can be defined.

D. The custom person entity will not inherit any operations of Person entity type. All needed operations will need to be
defined.

Correct Answer: A
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